Unit 4/Semester Final

Assessment ID:  1b.536821

Directions: Answer the following question(s).

Combine into a single fraction and reduce to lowest terms:
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Unit 4/Semester Final : Assessment ID:  1b.536821

Directions: Answer the following question(s).

Which of the following rational functions share a zero with the graph shown? Select two that apply.
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Unit 4/Semester Final Assessment ID:  1b.536821

| Directions: Answer the following question(s).

ﬁ of the following rational functions shares a vertical asymptote with the graph shown? Select

twothat apply. —_—
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Unit 4/Semester Final Assessment ID:  1b.536821

Directions: Answer the following question(s).

| HSAY

10
hﬁ“*&m.._.
X
=
1 2 3 4 5 6
i-5
10
15v
VALY =~

Select the equation represented by the graph shown above.

@ 3x+5
y=

X+ 1
B. 3x+5
Y=
C.
D.
Stan's hours spent in the office each day can be expressed as h(f), a function of the number of
transactions that occurred that day. His weekly pay can be represented by w(p), a function of the
number of hours that he worked each week. Which functions can be used to calculate Stan's total
earnings for the week? Select all that apply.
A, (hwitpr— h(€) w (p)
B.  hiso) Y 5
(W h)() Lransactions — hows howrs —5 Pay
w(h(1))
E. bpr
F. (M) or (o o W)(©
Jransactony ~> pay
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Unit 4/Semester Final

Assessment ID:  1b.536821

Directions: Answer the following question(s)

If £(x) = x"2 — 9, what if f(£(x)) ?
A. x"2-9

B. x+3

ﬁx’% — 18x72 + 72

D. x*"2—-18x+72

£ ~x -4 )
£( x~4)= (x=9)

If f(x) = 3x + 2 and g(x) = x"2, what is f(g(x)) ?
3x 2+2 _(:(XQ): 3(x7)+1 S By X

B. 9x"2+12x+4
C. 9x"2+4

D. 3x"2+4

@ What is the inverse of the function y= x2+3?

2
A. y=x3 X=Y +3

@ y=vx—-3 K’3:-\/2

C. y= g};}:z +3 \S;i? - y

D. y=(x-3)?
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10| Which expression represents f~1(x) if f(x) = 11 - 10x?
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Unit 4/Semester Final Assessment ID:  ib.536821

Directions: Answer the following question(s).

11| What is the value of the following expression:
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Q’lot be determined without knowing the exact functions

2| Which of the following pairs of functions are inverses of each other?
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Unit 4/Semester Final Assessment ID:  1b.536821

Directions: Answer the following question(s).
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Lila is given the following graph which represents the function f(x).
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She is then asked to find two points on the function g(x) which is the inverse function of f(x).
. . . —D insse
Lila makes the claim that points (1, 4) and (5, 2) are on g(x).

Which statement provides a correct analysis of Lila's claim?

Lila is correct; both M g(x) because the points on g(x) are the same as the points on f(x) only
the x— and y—valueg-dre reversed.

Lila is partially correct; (1, 4) is but not (5, 2) because the points on g(x) are the same as the points

. Allais partially correct; (5, 2) is on g(x) but not (1, 4) because the points on g(x) are the same as the points

@W f(x) only the x—and ues will have the opposite sign and will be reversed.
C

on f(x) only the x— and y—values will be reversed.

D. Lilaisincorrect; neither pMon g(x) because the points on g(x) will be the same as the points on f(x).
15| The table below shows points that are on the graph of the function h(x).
x |0{1{2| 3415
h(x)|2|{5(8[11({14]|17
Select all of the points that are on the graph of the inverse function h1(x).
A. (1,-1)
(2,0)
C. (3,11)
D. (4,10)
' (5, 1)
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Unit 4/Semester Final

Assessment ID:  1b.536821

Directions: Answer the following question(s).

16| The function f(x) = 3 - 5x. If g(x) is the inverse of f(x), what is g(-7)?

@ ey

~3=-5
N o 7.3 _/
X 3 ~ ]
D~ '5 “—""—\ - e N S em— -
L
17 | What is the inverse of the following function?
y=2"+3

A. y= log,(x+3)

(B y=log, (x-3)
C. y= log, (6)
D. y= log, (x) -3

18| Which of the following is equivalent to the following equation?

log_3(30) = x
A. 3"30=x
B. x"30=3

- 3x =30
@ 37x = 30

19| Solve for x: 5e™(2x) = 30

3
B./ (In(6))/2
C. (log(6))/2
D. 6
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